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S e o CC ) | DY/ N
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1.9 312/1,445 12,763 / 2,763
C ) 296/ 296 : 356 / 356
5.3 : 118/ 118
B/C = 5.9 10% B/C = 4.8 10%
B/C = 5.1 10% B/C = 5.6 10%
B/C = 5.4 1 B/C =
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81.6 km
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« ) 359 / 359 - 418/ 418
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_______________________ B/C = 3.5 10% B/C = 2.9 10%
B/C = 3.0 10% B/C = 3.4 10%
B/C = 3.3 1 B/C = 3.1 1
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_______________________ B/C = 4.8 10% B/C = 3.9 10%
B/C = 4.1 10%  B/C = 4.7 10%
B/C = 4.5 1 B/C =
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_______________________ B/C = 2.7 10% B/C = 2.2 10%
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B/C = 2.6 1 B/C = 2.4 1
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_______________________ B/C = 11.4 10% B/C = 9.3 10%
B/C = 9.8 10%  B/C = 11.0 10%
B/C = 10.6 1 B/C = 10.0 1
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20.1 km
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""""""""""""""" B/C = 1.8 10 B/C=1.5 10%
B/C = 1.5 10% B/C=1.8 10%
B/C = 1.7 1 B/C = 1.6 1
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( ) 83/ 83 - 174/ 174
4.3 - 17/ 77
_______________________ B/C = 4.7 10% B/C = 3.8 10%
B/C = 4.0 10% B/C = 4.6 10%
B/C = 4.4 1 B/C = 4.1 1
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""""""""""""""" B/C = 15.2 10%  B/C = 12.4 10%
B/C = 12.9 10%  B/C = 14.8 10%
B/C = 14.1 1 B/C = 13.4 1
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« ) 14/ 14 2/ 2

3.3 1/ 1
""""""""""""""" B/C = 3.6 10% B/C = 2.9 10%

B/C = 3.0 10% B/C = 3.6 10%

B/C = 3.3 1 B/C = 3.1 1
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7km h16 - 1km h17 6km
60 1 2.3
11 41.1 - 12 43.4
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60
104 135 31
NO, 98 0.026 0.027 ppm 0.04 0.06ppm
co 2 0.43 ppm  10ppm
7
72dB 66dB 70dB 65dB
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68 30

75.2% H11 - 85.9% H19 11%
NO, 98 0.031 ppm 0.04 0.06ppm
Co 2 0.38 ppm 10ppm
50dB 46dB 70dB 65dB




